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1. Calculate the four electrostatic quantities at point P for the first 

diagram.  Be sure to give direction for vectors.  Some may be zero. 

 

 

 

 

 

 

2. Calculate the four electrostatic quantities at point P in the second 

diagram.   

 

 

 

 

 

 

 

3. Now put the two previous problems together.  Using the numbers 

you found in Q1 and 2, find the four electrostatic quantities for 

point P due to both charges.  

 

 

 

 

 

 

 

 

4. A 1.5µC charge is then brought to point P from infinity.   

A. Again, using your previous numbers, calculate the four 

 electrostatic quantities for this charge at point P. 

 

 

 

 

B. How much work was done to move the charge to point P  

 from infinity? 

 

 

 

5. Now let’s move the negative charge to the positive y-axis.    

Using the same individual numbers you calculated in Q2 and Q3, 

calculate the four quantities at point P.    
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